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1. —B# 5% DNA %5 &8 #& &) reading frame ?
A)1

®)3
©6

2. —FRE sl mBERREE lysosome 4 protein HREXRAFH ¢
(A) ER = Cis Golgi = Trans Golgi
(B) Cis Golgi > Trans Golgi = ER
(C) ER = Trans Golgl = Cis Golgl (ER=endoplasmic reticulum)

CH?
3. E. coli :?..DNA—GI———— fBEHEETRE (A)—A— B)—G—
— T —T— —C—

4. FRIRBAEEAS@EZ (A) % ®) #f& ©C) =n%
(BREEMETFAE41,42,43,44; BB =4)
4-1 . ribosome assemble
4-2 : fRNA processing
4-3 : mRNA processing
4-4 : translation

5. F 5147 transcribe g% RNA ? (#3%)
(A) satellite DNA
(B) tRNA gene
(C) telomere sequence

(D) pseudogene
(E) Alu element
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6. T $|474% cell cycle % 4N genome ? (&)
(A) GO
(B) G1
(C) early S
(D) late S
(E) G2
)M

7. Eukaryotic protein *£# phosphorylation #4457 + F 7| 9Reb B & & & 2 target site 7
(#E)
(A) Serine
(B) Proline
(C) Threonine
(D) Tyrosine
(E) Tryptophan

ZMEBELE (—HE3S R 124

1. N-linked glycoprotein (what amino acid and sugar are involved)
2. Telomerase (describe the enzyme function and steps involved)
3. Topoisomerase (describe the property of the two major classes)
4. Phosphofructokinase (describe the enzyme function)

= MAE (SE3 5 £154)

#r 4 identify T —F DNA sequence 44 » B4n - ( E B L 8B8)
3 & 3k DNA sequence?

B % R — B sequences B promuoter activity ?

BE % 35 £ putative gene sequences . exon-infron junction ?
#|Ef #& DNA sequence & & J& 42 B P A & 3E s, mRNA?

#| 87t DNA sequence & 5 42 éa B F % & 38 & protein?

A S
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1. In the physiological condition (pH=7), which of following amino acid has no charge?
(A) Aspartate
(B) Glutamate
(C) Histidine
(D) Glutamine

2. Which of the following process mostly correlates with gene inactivation?
(A) DNA methylation
(B) DNA acetylation
(C) Gene rearrangement
(D) DNA recombination.

3. Which of the following is correct to describe chromosome constituents?
(A) nucleosome is the smaller than histone.
(B) chromosome is larger than chromatin
(C) histone has the same size as chromatin
(D) chromatin is smaller than nucleosome.

4. Which of the following acts with DNA sequences that are upstream of the start site of transcription?
(A) RNA polymerase
(B) Primase
(C) Helicase
(D) none of above

5. Which of the following is not correct?

‘ (A) Proline is not common in a-helices.
(B) Glycine is favor for p-turn.
(C) Arginine tends to stabilize the helix.
(D) Glutamates could destabilize the helix

6. Which of the following pairs 1s critical for glutathione reduction?
(A) pyruvate/succinate
(B) fumarate/succinate
(C) succinate/ malate
(D) NAD/NADH
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7. The P450 belongs to which of following famity?
(A) Catalase
(B) Oxygenase
(C) Peroxidase
(D) dehydrogenase -

8. Which of the following is correct?
(A) Hydroxyurea inhibits Ribonucleotide reductase
(B) 5-fluorouracil inhibits Thymidylate synthase
(C) allopurinol inhibits Xanthine oxidase
(D) all are correct

9. Which of the following is correct?
(A) pyrimidine metabolism is associate with uric acid production
(B) Overproduction of purines result in hyperuricemia
(©) Uric acid is the beginning substrate of purine degradation
(D) all are correct

10. Which of the following tissue metabolize glucose, fatty acids for ATP production?
(A) Muscle :
(B) Brain
(C) Liver
(D) kidney

11. Which of the following is incorrect?
(A) Prostaglandins are from arachidonic acid
(B) Malonyl CoA is from acetyl CoA
(C) arachidonic acid is from leukotrienes
(D) Acetyl CoA cannot be used to synthesis glucose

—-HEE #6n

Please list 3 nonessential amino acids and 3 essential amino acids that belong to Glucogenic. (6 43)




